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Note :

This paper is of Seventy (70) marks divided into two
(02) Sections A and B. Attempt the questions contained
in these sections according to the detailed instructions
given therein. Candidates should limit their answer to
the questions on the given answer sheet. No additional
(B) answer sheet will be issued.
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SECTION-A/( @US-4 )
(Long Answer Type Questions)/(Sd 3™ el W9 )

Note : Section 'A' contains Five (05) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any Two (02) questions only.
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1. Define and explain the law of diminishing marginal utility.
Why this law operates ?
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2. Define "Price elasticity of demand". Distinguish between
"Point elasticity" and "Arc Elasticity" and discuss the
methods of measurement of both.
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3. Ciritically examine the concept of consumer's surplus. What
is its significance in economic analysis ?
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4. Differentiate between monopoly and perfect competition.
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5.  "The modern theory of profit regards the entrepreneur's
contributiontothe process of productionasthatofbearingnon
insurable risk and uncertainity". Discuss this statement.
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SECTION-B/( @Us-@)
(Short Answer Type Questions)/( T I G Y9 )

Note : Section'B'containsEight(08)shortanswertypequestions
of Eight (08) marks each. Learners arerequired to answer
any Four (04) questions only. (4x8=32)
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1. Distinguishbetweenmicroeconomicsand macroeconomics.
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2. Describe the main characteristics of indifference curve.

SIEAA g% H Fg@ faRivan SRy
P-462/BAEC-101 [3] [P.T.O.



Explain the concept of diminishing marginal rate of technical
substitution (MRTS).
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Explain the relationship between the average and marginal
revenue curves.
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Explain the different types of oligopoly.
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Write a note on backward bending supply of labour.
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Explain the concept of economic rent. Is it a differential
surplus ?
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"Interest balance the supply of capital saving and capital
investments." Discuss this statement.
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